
p
di-J/ψ
T [GeV/c] 2.0 < ydi-J/ψ < 3.0 3.0 < ydi-J/ψ < 3.5 3.5 < ydi-J/ψ < 4.5

0 – 1 0.428± 0.078± 0.036 0.238± 0.044± 0.027 0.198± 0.035± 0.021
1 – 2 0.632± 0.125± 0.072 0.286± 0.087± 0.058 0.270± 0.061± 0.043
2 – 3 0.593± 0.164± 0.082 0.304± 0.093± 0.068 0.299± 0.070± 0.050
3 – 4 0.437± 0.121± 0.075 0.291± 0.091± 0.063 0.297± 0.064± 0.046
4 – 5 0.379± 0.094± 0.063 0.234± 0.069± 0.050 0.203± 0.050± 0.036
5 – 6 0.322± 0.078± 0.047 0.185± 0.048± 0.035 0.182± 0.038± 0.025
6 – 7 0.237± 0.050± 0.033 0.153± 0.034± 0.024 0.139± 0.027± 0.017
7 – 8 0.231± 0.038± 0.024 0.087± 0.022± 0.014 0.064± 0.017± 0.010
8 – 10 0.110± 0.018± 0.013 0.067± 0.011± 0.009 0.075± 0.010± 0.007
10 – 12 0.073± 0.010± 0.007 0.031± 0.005± 0.003 0.029± 0.005± 0.003


